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CUBES

Form In this case: Form | In this case:

1 lies opposite 2; 1 lies opposite &

2 lies opposite 4; 2 ligs opposite 4

J lies opposite b. J lies opposite 3.
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CUBES

Form |l In this case: Form |V In this case:
n 1 lIes opposie 4, | 1 lies opposite 4;

23] - 00 . .
2 lies opposite 6 2 ligs opposite 2.

HH J IES Opposite 2. E 3 lies opposite &.
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CUBES

Form V Inthis case:
In this case: Form

0 1 lies opposite 3 A\ ﬁ: wil be the ane of the faces of the cube and it lies opposite 3

3(4 2 lies opposite 5;

E 4 lies opposite 6.

} ) ies opposite 4

1 lies opposite 5.
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CUBES

1 IES Opposite 3.
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CUBES

Form V] In this case:

nﬂ E andg HE| are Iwo faces of the cube that lie opposite 10 each other.

 ies opposite 3
fin .

X
n 2 lies opposite 4
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CUBES

Choose the box that is similar to the box formed from the given sheet of paper ().

P o ¢ o @

1 and 2 only

2 and 4 only

2 and 3 only

= L

1 and 4 only

Answer: Option C

Explanation:

The fig. {(X) is similar to the Form Vi1. So, when a cube is formed by folding the sheet shown in fig. {(X), then l! =

one of the faces of the cube. However, the cube in fig. (1) has two such faces and fig. (4) has a face which is
completely shaded. So, these two cubes cannot be formed. Hence, only the cubes in figures (2) and (3) can be
formed.
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CUBES
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A. 2

B. 4

cC. 5

D. &

Answer: Option D
Explanation:

The given figure is similar to Form V. Therefore, when this figure is folded to form a cube then the face bearing six

dots will lie opposite the face bearing three dots.
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CUBES

Choose the box that is similar to the box formed from the given sheet of paper (X).

® ¥ ® ©

1 and 2 only
2 and 3 only

2 and 4 only

= S

1,2, 3and 4

Answer: Option D
Explanation:

The fig. (X) is similar to Form 1l. So, when a cube is formed by folding the sheet shown in fig. (X). then the two half-
shaded faces lie opposite 1o each other and one. of the three blank faces appears opposite io the face bearing a
dot. Clearly, each one of the four cubes shown in figures (1), (2), (3) and (4) can be formed by folding the sheet
shown in fig. (x).
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CUBES

Choose the box that is similar to the box formed from the given sheet of paper (X).

T £ O &7

1 and 3 only

1. 3 and 4 only

o 0 Dp

1. 2, 3 and 4

Answer: Option C
Explanation:

Wihen the sheet in fig. (X) is folded, then one of the faces of the cube formed will be of the form E and this face

will lie opposiie the face bearing a square. Also, one of the blank faces lies opposite another blank face and the
third blank face lies opposite the face bearing an '=' sign. Clearly, all the three blank faces cannol appear adjacent
to each other. So, the cube shown in fig. (2) which has all the three blank Taces adjacent to each other cannot be
formed. Hence, only the cubes shown in figures A, C and D can be formed.
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CUBES

Choose the box that is similar to the box formed from the given sheet of paper (X).

| F |
la | E
 FS J?@ vy

B :

e G 6P & F
A. 1 only
B. 2 only
C. 1 and 3 only
D. 1.2, 3and4 only

Answer: Option B
Explanation:

The fig. (X) is similar to the Form Ill. So, when the sheet in fig. (X) is folded to form a cube. then 'F' appears
opposite "B, 'E' appears opposite 'C' and "A' appears opposite 'D' Therefore, the cube in fig. (1) which shows 'F’
adjacent to 'B' the cube in fig. (3) which shows 'E' adjacent to '"C' and the cube in fig. (4) which shows 'A' adjacent to
'D' cannot be formed. Hence, only the cube in fig.(2) can be formed.
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CUBES

Choose the box that is similar 1o the box formed from the given sheel of paper (x).

Qﬂ Y ¢ ® $

2 and 3 only
1. 3 and 4 only

Z and 4 only

=

1 and 4 only

Answer: QOption B
Explanation:

The fig. (X} Is similar to the Form V. So, when the sheet in fig. (X) is folded to form a cube, then the face bearing =
dot lies opposite to one of the shaded faces. Therefore, the cube shown in fig. (2) which has both the shaded faces

adjacent to the face bearing the dot, cannot be formed. Hence, the cubes shown Iin figures (1), (2) and {(4) can be
formed.
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CUBES

Choose the box that is similar to the box formed from the given sheet of paper (X).

i,

g

1 and 2 only

<

1. 2 and 3 only

1 and 3 only

=L

1. 2, 3and 4

Answer: Cption A
Explanation:

The fig. () is similar to the Form V1. So, when a cube is formed by folding the sheet shown in fig. (), then m =

one of the faces of the cube and this face lies opposite to a blank face. Also, a face bearing a circle lies opposite to
one bearing a dot. Clearly, this cube does not have faces as shown in the cubes in figures {(3) and (4). Hence, only
the cubes shown in figures (1) and (2) can be formed.
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CUBES

Choose the box that is similar 1o the box formed from the given sheet of paper (X).

2’ 9 ® 9 O

1 and 3 only

2 3 and 4 only

2 only

o 6w e

3 and 4 only

Answer: Qption C
Explanation:

The fig. () is similar to the Form |. So, when the sheet in fig. (X) is folded to form a cube, then the completely
shaded face lies opposiie 1o the half shaded face. Therefore, the cubes shown in figures (1) and (3) which have the
completely shaded face adjacent 1o the half-shaded face cannot be formed. Since Fig 4 does't have at-least one
shaded face, it cannot be formed. Hence, only the cubes in figure (2) can be formed.
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CUBES

Choose the box that is similar to the box formed from the given sheet of paper (X).

- =7 =
I I/ a

1 and 2 only

2 3 and 4 only

4 only

o o mp

2 and 4 only

Answer: Option D
Explanation:

The fig. (X} is similar to the Form V. 50, when the sheet in fig. (X) is folded to form a cube, then the face bearing a
square lies opposite to the face bearing a circle. Therefore, the cubes shown in figures (1) and (2) which have the
faces beanng the square and the circle adjacent to each other, cannot be formed. Hence, only the cubes in figures

(3) and (4) can be formed.
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CUBES

Which of the following finished patterns can be obtained from the piece of cardboard (X) shown below’?

oo =2 s

oo mp
= W M

Answer: Option A
Explanation:

The pattern on fig. (X) and also the fact that the faces are rectangle, indicate that only fig. (1) can be obtained by
folding fig. (X).
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CUBES

Choose the box that is similar to the box formed from the given sheet of paper (X).

1 and 3 only

2 and 4 only

S and 4 only

o6 mp

1 and 4 only

Answer: Option A
ExXplanation:

The fig. (X) is similar to Form 1. So, when the sheet shown in fig. (X) is folded to form a box (cuboid), then the two
rectangular-shaded Tfaces lie opposite to each other, two rectangular white faces lie opposite to each other and the
two square shaped faces (one shaded and one white) lie opposite 1o each other. Clearly, the cuboids shown in
figures (2) and {(4) cannoi be formed as in each of the two cuboids the two shaded reciangular faces appear
adjacent to each other. 3o, only the cuboids in figures (1) and (3) can be formed.
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CUBES

When the following figure is folded to form a cube, how many dots lie opposite the face bearing five dots?

L
»

senle &
EEEEF
L I
1
i ¥

=
= W M

Answer: Option C
Explanation:

The given figure is similar to Form lll. Therefore, when this figure is folded to form a cube then the face bearing
three dots will lie opposite the face bearing five dots.
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CUBES

Choose the box that is similar to the box formed from the given sheet of paper (X).
- P &
J £ |

1 only

1. 2 and 3 only

2 and 3 anly

o 6 mp

1,2, 3and 4

Answer: Qption D
Explanation:

The fig. (X) is similar to the Form V. So, when the sheet in fig. (X) is folded to form a cube, then the face bearing a
dot appears opposite to a blank face. the face bearing a '+ sign appears opposite to another blank face and the
face bearing a circle appears opposite to the third blank face. Clearly, all the four cubes shown in figures (1), (2. (3)
and (4) can be formed.
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